S 3 S BT N s ———
0,0 rflb’i‘zé‘ﬁ, % \,ﬁ,ﬂ?,_f AR sy //,4‘[.,&1“4’ ’ /':1
/

—_—
anu f it
¢ ‘f!ﬂ&'w%ﬁwzﬁ;q i Y ';.{!:2»%‘-“ ;gx 4

KE

RTAS |

At 7 B B IR T I b B8y
I D 2 A 3B 4 C 5 A 6D n
7B 8C 9C 10B- 11 C 12D = I [ 2:2,532;03"0 121‘38””'2 :
18 D 13 C I5 C 16 A 17 C 18 D —
19 B 20 B 2 C 22 A 23 A 24 D (3X4><500mt)+(2x4xl000mt)+
25 B 2 C 278 28A 29 A 30 B (b) 2x4x 1500 md + (3 x 4 x 2000 me) I
3l C 32 C 33 D 33 B 35 D 36 C (@x4)+(2x8)+(2x8)+(3xb)
37 B 38 A 39D 4 B (12x 500 mé) + (8 x | 000 me¢) +
=(8x 1500 m4 +(12 x 2000 my) 4
12+8+8+ 12
KERTAS 2 6000 m¢ + 8 000 me+ 12 000 me +
Tl e e R = 24,000 me¢
I |.(a) 32854, 34088, 35322, 36556, 40
. 37 790 _ 50000 me
40
(b) EEihm 1 234 = 1250 m¢ 1
2 [ (a) 6% 10 | (@) RM24934-RMI 180 - RM648 =RMI 106 | |
©) 720° RMI 106 + 70 = RM15.80 |
3 (Q) &WEEE: masﬁ\ﬁﬁ (b) RMZ q34—IRM2 64060=RM2q340 |
EQEE. @T | A8 BMa33-90 % 5
’b = (=} RMQ“?S‘tF'ﬁ)IOO/ 1
(b) (2, 1) :-Il—gxmﬂ%
4 (@) 2612+2756+2696+2792 - 10%
= 10856 okl :
N Il | (@) 24kg+3=0.8kg 1
/(b) 10855 +4 5x0.8 kg=4 kg l
4kg-2.4kg=1.6kg |
5| (@ fi’;;;sm m (b) 2.4 kg x 35% |
=2.4kgx0.35
(b) 9375 me=9.375¢ =0.84 kg
6 (@  sAHHW  0iHaAW = :
o ki » 12 | () BEFEGMBEGKEY 2, 535t
1930 B 0000 Bf 1030 &4 EIROSE 2 5, Y5324 3 B 5 B ok 3
4 svE 30 43¢ + 10 /)\BS 30 4> BB ENS5-2=3, |
= 15 J\k} 135+3x5 I
BT 15\ =45x5 5
® sAE =225 I
o Sy (b) 45x(2+5) |
0845 BY 2345 BY =45x7
2019 £ 5 A 1 B 0845 Rt =315 |
7 [(a) () BEROYEBHIHER L 13 [ (@) A BEEHKHBEKIR,
() 38+1=39 3x 12,758 F =38.274 F# |
(®) REROMB, 38+7=45 féf?z?imﬁ%gi: 13.652 7 |
UERNEA, 45-1 =04 = id 6‘775; : - | 5
#®: 444 _
. s (b) 13.925 # - 10.697 F# !
(a) axsgﬂ 4 % 5,625 7 =3.228 7 |
' 45 14 | (@) 7x2.47km I
=kx—oFt =17.29km !
= fzéﬂ (b) 20.748 km - 17.29 km 1| S
| =3.458 km |
= 22? H =225 % | 3.458 km + 7 = 0.49 km |
l 15§ | (@) 180 xB85% |
(b) 22?51‘- +30 225 F# + 30 | =153 |
483, | (b) 180 x 135% I 5
=7 H %35, =243 |
=5t =075 7 ! ) WFR |

Scanned by CamScanner




